L2

BEE &
MRy i
F
JO—LXvF Tt E
ﬂllj FINATYUYT
== ® 50 65 75 100
HE BAFEBURSR) - EBEAER

L

ET-100N,M16 X 40

[ELlEl

HERRROERAA—TTT,

ST |8 | 2| & | ¥
& & B W HinE H | BftE Bl EvF-li$| R popv) "o HEEFE FFAfE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kgf) ]
ET-50EL,M12x 35 M12 1.75 35 19
ET-50EL,UNF1/2x 14 50 20 68 UNF1/2 20 21 22 47 25(25.5)
14
ET-50EL,W3/8X% 14 W3/8 16 17
ET-65EL,M12%X 35 M12 1.75 35 19
ET-65EL,UNF1/2x 14 65 85 UNF1/2 20 21 23 56
14
ET-65EL,W3/8% 14 w3/8 16 17
21 30(30.6)
ET-75EL,M12X 35 M12 1.75 35 19
ET-75EL,UNF1/2x 14 75 95 UNF1/2 20 21 27 65
14
ET-75EL,W3/8% 14 Ww3/8 16 17
ET-100EL,M12X 35 M12 1.75 35 21
ET-100EL,M16 X 40 M16 2 40 23
100 27 126 31 82 50(51.0)
ET-100EL,UNF1/2% 25 UNF1/2 20 25 21
AAIV:PP
ET-100EL,W3/4 X 40 F HITAT— W3/4 10 40 23
ET-50R,M12% 35 M12 1.75 35 19
ET-50R,UNF1/2X 14 50 20 68 UNF1/2 20 21 22 47
14
ET-50R,W3/8%X 14 W3/8 16 17
30(30.6)
ET-65RH,M12x 35 M12 1.75 35 19
ET-65RH,UNF1/2Xx 14 65 85 UNF1/2 20 21 23 56
14
ET-65RH,W3/8 % 14 w3/8 16 17
21
ET-75RH,M12% 35 M12 1.75 35 19
40(40.8)
ET-75RH,UNF1/2x 14 75 95 UNF1/2 20 21 27 65
14 T —
ET-75RH,W3/8% 14 w3/8 16 17 35(85.7)
ET-100RH,M12%X 35 M12 1.75 35 21
ET-100RH,M16 X 40 M16 2 40 23
100 126 31 82
ET-100RH,UNF1/2x 25 UNF1/2 20 25 21
ET-100RH,W3/4 X 40 W3/4 10 40 23
25 50(51.0)
ET-125RH,M12x 35 M12 1.75 35 21
ET-125RH,M16 X 40 M16 2 40 23
125 152 36 99
ET-125RH,UNF1/2X 25 UNF1/2 20 25 21
AT L
ET-125RH,W3/4 X 40 E =N w3/4 10 40 23

. =] 17FRINF
BRAIA 2—IAZ/¥F(19mm.~21mm)

SHFENT U MNIN

055



adA1-3

056

S| T | M| & 2| & v | ¥
& E B W HipE o BftE Bl EvF- 3 pogv) "o HEEFE BEGES
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kef) ]
ET-50RE,M12X 35 M12 1.75 35 19
ET-50RE,UNF1/2%X 14 50 20 68 UNF1/2 20 21 22 47
14
ET-50RE,W3/8x 14 W3/8 16 17
30(30.6)
ET-65RHE,M12X 35 M12 1.75 35 19
ET-65RHE,UNF1/2X 14 65 85 UNF1/2 20 21 23 56
14
ET-65RHE,W3/8x 14 W3/8 16 17
21
ET-75RHE,M12X 35 M12 1.75 35 19
ET-75RHE,UNF1/2%x 14 75 95 UNF1/2 20 21 27 65 40(40.8)
14
ET-75RHE,W3/8%X 14 W3/8 16 17
ET-100RHE,M12X 35 M12 1.75 35 21
ET-100RHE,M16 X 40 M16 2 40 23
100 25 126 31 82 50(51.0)
ET-100RHE,UNF1/2X 25 UNF1/2 20 25 21
KAV EETL
ET-100RHE,W3/4X40 | % ##&EJL W3/4 10 40 23
ET-50N,M12X 35 M12 1.75 35 19
ET-50N,UNF1/2%X 14 50 68 UNF1/2 20 21 22 47
14
ET-50N,W3/8X 14 W3/8 16 17 40(40.8)
ET-65N,M12X 35 M12 1.75 35 19
ET-65N,UNF1/2X 14 65 21 85 UNF1/2 20 21 23 56
14
ET-65N,W3/8X 14 W3/8 16 17 35(35.7)
ET-75N,M12X 35 M12 1.75 35 19
50(51.0)
ET-75N,UNF1/2%X 14 75 95 UNF1/2 20 21 27 65
14
ET-75N,W3/8%x 14 W3/8 16 17 35(35.7)
ET-100N,M12x 35 M12 1.75 35 21
ET-100N,M16 X 40 M16 2 40 23
100 25 126 31 82 60(61.2)
ET-100N,UNF1/2X 25 UNF1/2 20 25 21
KAV F O
ET-100N,W3/4 X 40 =D W3/4 10 40 23
ET-50UR,M12X 35 M12 1.75 35 19
38(38.8)
ET-50UR,UNF1/2X 14 50 68 UNF1/2 20 21 22 47
14
ET-50UR,W3/8 %X 14 W3/8 16 17 35(35.7)
ET-65UR,M12X 35 M12 1.75 35 19
40(40.8)
ET-65UR,UNF1/2X 14 65 21 85 UNF1/2 20 21 23 56
14
ET-65UR,W3/8%X 14 W3/8 16 17 35(35.7)
ET-75UR,M12X 35 M12 1.75 35 19
45(45.9)
ET-75UR,UNF1/2X 14 75 95 UNF1/2 20 21 27 65
14
ET-75UR,W3/8 %X 14 W3/8 16 17 35(35.7)
ET-100UR,M12X 35 M12 1.75 35 21
ET-100UR,M16 X 40 M16 2 40 23
100 28 126 31 82
ET-100UR,UNF1/2X 25 UNF1/2 20 25 21
ET-100UR,W3/4 X 40 wa3a/4 10 40 23
60(61.2)
ET-125UR,M12%X 35 M12 1.75 35 21
ET-125UR,M16 X 40 M16 2 40 23
125 32 152 36 99
ET-125UR,UNF1/2X 25 UNF1/2 20 25 21
KAVFA0
ET-125UR,W3/4 X 40 # wULas W3/4 10 40 23




ST M| & | 8| & T
& B W HiRE B & B fal EvF- i R pogv) "o HEEFE FFAfE
D(mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R(mm) [daN (kef) ]
ET-100NR,M12X 35 o M12 1.75 35 21
ET-100NR,M16 X 40 M16 2 40 23
100 27 126 31 82 60(61.2)
ET-100NR,UNF1/2% 25 UNF1/2 20 25 21
o 912 = b
ET-100NR,W3/4 X 40 = HdL W3/4 10 40 23
ET-100NRB,M12x 35 M12 1.75 35 21
ET-100NRB,M16 x40 M16 2 40 23
100 27 126 31 82 60(61.2)
ET-100NRB,UNF1/2Xx 25 UNF1/2 20 25 21
b 1% e = b
ET-100NRB,W3/4X 40 | % #7T4BA) wa/4 10 40 23
ET-100UHF,M12% 35 M12 1.75 35 21
ET-100UHF,M16 X 40 M16 2 40 23
100 28 126 31 82 60(61.2)
ET-100UHF,UNF1/2x 25 UNF1/2 20 25 21
RAIFAO>
ET-100UHF,W3/4%X40 | ® #JL%-(BA) Ww3/4 10 40 23

057





